
There were 24 biscuits 
in a packet. 
Tom had 3 packets. 
How many biscuits 
altogether? 

There were 17 apples in 
a bag 
Tom had 5 bags. 
How many apples 
altogether? 

There were 18 oranges 
in a bag. 
Alfie had 3 bags. 
How many oranges 
altogether? 

There were 25 biscuits 
in a packet. 
Alfie had 5 packets. 
How many biscuits 
altogether? 

There were 28 sweets 
in a packet. 
Sam had 2 packets. 
How many sweets 
altogether? 

There were 52 marbles 
in jar. 
Sam had 5 jars. 
How many marbles 
altogether? 

There were 36 stickers 
in a packet. 
Bob had 5 packets. 
How many stickers 
altogether? 

There were 32 carrots 
in a bag. 
Bob had 2 bags. 
How many carrots 
altogether? 

 


